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Directions : Answer the following questions
by selecting the correct option.

1. The cohesive force existing between
molecules of water is contributing to

{#) plasmolysis
(B)] ascent of sap |
{C) osmosis

(D) None of thedbs

. When water enters the guard cells
the stomea

{A) opens
(B} closes
{C) opens or closes

{D) None of the above
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4. In photosynthesis, atmeaspheric
carbon  dioxide s to
carbohydrate.

(A} oxidised
(B) reduced
IC) neutralized

[D) None of the above

5. During cellular respiration, one
molecule of glucose is first broken
down into two molecules of
[A) acetic acid
(Bl pyruvic acid
{C] lactic acid
(D) Mone of the above

6. In which of the following plants
there will be no transpiration?

@;thcfuﬂmingmuu

molecular nitrogen?
(A} Rhizobium

(B) Mucor

(€ Spirogyra

(D} None of the above
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. (=mosis i a process in which

(A) water diffuses from  lower
concentration to higher
concentration

(B) soclute diffuses from lower
concentration Lo higher
concentration

(C) active trensport of ions takes
place

(D} None of the above

. The transport of soluble products of

photosynthesis is  called transloe-
cation. It occurs in which part of
vascular syste

(D) None of the above

is a growth inhibitor hormone
in plants,

(A] Auxin

(B) Cytokinin

(C) Abscisic acid

(D} None of the above
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12. Male reproductive organ in flowering
plant is

[A) carpel
(B} silamen
[C) corolla

(D) MNone of the above

13. A fertilized ovule develops into a
in a&n angiospermic plant.

{A] =eed
{B) fruit
(C) flower

(I} Mone of the abg

14. If T is for tallness
dwariness, then what s

genotype of a  tall
according to Mendelism?

() TT ®

(B) Tt

genotype YyRr. The genotype of
gametes shall be

(A} Yy, RBr
(B] YR, ¥R, Yr, 7

[C) YR, T

(D} None of the above
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16. The theory of Natural Selection was
proposed by

(A} Lamarck
(B} Darwin
) Mendel

(D} Nome of them

17. How life might have originated on
carth was cxperimentally shown by

{A) Urey and Miller

Accumulation of non-biodegradable
pesticides in different trophic levels
is called

(A) biological depradation

(B} biological magnification

(C) biological concentration

(D} None of the above
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20. The World Environment Day is
celebrated on

(A} July 1
(B] July 5
(C) June 5

(D) None of the above

21, Which one of the following is
non-bindegradable substance?

{A) DDT
{B) Manure
(C) Paper

(D} None of the ab

22. Food weh is

(4] food served through W
- ®

[4) heat is produced
(B} light is produced
(C) heat and light are produced

(D) None of the above
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24, Water is neither acidic nor alkaline 24. T HFS TR WHES 7, 9
because

: (A) T ot Firs s fige s
(A4) it cannot accept or donate

protons (B 3= % =iz ot

(B] it boils at a high temperature (©) %= WR e o

(C) it can dissociate into equal IS 30
number of hydrogen ions
(D) Term e T

(0} None of the above

25. werd office wrareE
25. The autotrophic mode of nutrition
requires (A) TR St -

(D) Nome of the above

27. TIEbRswE e T

. Bacteriophages attack
g (A) ShEEPTE
(B) bacteria (B) RS
(C) algae : (C) TS
(D) Mone of the above (D) Teicmm vy
/7 8
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. Which of the following is caused by | 28. 6 ol Tbiasis 0

bacteria? (A} Fozsar
(A} Tetanus &
(B] Measles o
(C) Malaria i
(D) R s

(D) None of the above
. Which fixes atmospheric nitrogen? | 29 D M FRDTE AW WA 7

{A] Fungus (A EAFT |
(B) Bacterium (B) =i \
(C}) Both (A) and (B} (C) (A) & (B) Toply
(D) None of the above (D) Tremm e

. In lytic life cycle, host bacterial cell

[A) comtinues its normal life
processcs ;

(Bl bursts and dies

(A) bryophytes
(B fungi

(C] bacteria
iD} None of the above

persed in cytoplasm
of the above

In blue-green algae, nitrogen
fixation occurs in specialized cells
called

(A] hormogonia

(B} akinete

[C) heterocyst

[0 None of the above

9 [ P.T.O.




34. Under ideal condition, a bacterial

cell divides in every 20 minutes. It
takes 200 minutes to fill a culture
tube. How much time will it take to
fill a culture tube of double size?

(A} 400 minutes
(B} 220 minutcs
{C) 240 minutes
() None of the above

A virus that can reproduce without
killing its host is called

[A) Iytic vim

(D} None of the above

37. Which of the [wllowang growth

hormones in plant is influenced by
light?

{A) Gibberellin

(B] Cytokinin

(C) Auxin

(D) Mone of the above
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ﬁ
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38. Indefinite growth of plants is due to
the presence of

(4) meristematic tissue
(B} parenchyma
[T} permanent tissue

(D} None of the above

(C) positively photoblastic seed

(D) MNonc of the a

40. The ich emerges out
st i ination is

radicle
(BY plumule
(C} root

(D} None of the above
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41. The plant which needs light period | 41. @ 729 TRow 7=t atvdm o =

shorter than critical period is called EARE Y TR T T W
[4) short-day plant (SDP) (A} Z3-F RS (SDR)

(B} long-day plant (LDF} (B) Td-frm g% (LDP)

(C) short-long-day plant (SLDP) (C) Z2-Fid-f B {smﬁ

(D) Nome of the above (D) T i

42. ITICH "-"' ] i 42, T A

;i\ﬁe <

rotation is carried out for 43, *FURE FAR TR W=
(A) increasing acidity of soil (A) SFoFm = AR
B} decreasing fertility of soil (B) TrEsm TEam was
IC) increasing fertility of sail (C) Tresm e Ao

(D) None of the above
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44. The edible part of mushroom is 44, TrE W wmel owm e e

E
(A} basidiocarp
(A) =miHfEeme
(B} primary mycelium
(B) e wiRTE
(Z) basidiospore
() s @
(D} Mone of the above
(D) SR s A

45. Bacterial ribosomes are
45, THHETE AEATEE TH

-1‘."
(A) 708
(4) 70 S
(B) 80 8
: : (B) 80 3 e

IC) 60 S
(C) 60 8

(D} None of the

46. The causal agent of
sugarcane is

C) Fehhem
(D) o ot T

47. w2 A EEEh =
(A cemiEs
(B)
(C) e

(D) Nome of the above
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Symbiotic
blue-green
present in

relationship  between
algae and fungus is

(A} mycorrhiza

(B) lichen

(C) Bryophyta

(D) None of the above

7

a mf\nﬁg

smata connections help in

(4} cytoplasmic streaming

(B] mitotic division

(C) movement of substances

between cells

(D) None of the above
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Directions : Answer the following questions
by selecting the correct opton.

§1. DNA replication takes place during
(4] Gy phase
(B) G phase
(C) S phase

(D) M phase

52. Which of the followin
divide once it is diffe

(A} Intestine cell
(Bl Lens cell
[C} Blood cell

(D

3@3 pocurs in

{A) gonad

B] liver

[T} kidney

(D) brain

GROUP—E / =1%—B
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[A) Gy FICE
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[C) Svm=

(D) M F®
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Buote :The [nfurmstioe Frovicdes hetw ia ooly 407 Esfecwnce. - ma

™

SEIET



54. Histone proteins are synthesized in
(A) S phase
(B} Gy phase
(C} prophase

(D) Gg phase

55. The number of chromatids present
in a metaphase chromosome is

(A 4

856. Conscrvati
environment is

AFTES AT TS T T A
e

m@ ) 2 g
“\ ®) % iz
g ©) % 5
(D) «¥ 7

BT. In nature, relation of food can be

explained by 57. SRS I ok AW W
(A) single food chain (A} A TR W
(B} different types of food chain (B) FfEn Ym-*mLms Mo
[C) food web (C) =¥ ECFE A
(D) Both (B) and (C) (D) (B) @ (C) T=u2
17 16
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B8. Grazing food chain starts from 58. e - RS W

(4) primary consumers (A) e wmre ca

(B) producers (B) Tesmes (T

{C) decomposers C) o cs

[D) sccondary consumers (D) Ffm e s o

§6. Which of the following is primary | sg, Fmffie cwis o T2
COTSUMEr? i

(8) Zooplankton

(B} Phytoplankton

60.

espimtw&* organ in Periplansta is 61, CHRSTERE B EE

{Al book lung (A} TEAR
(B) lung B} T
{C) trachea (Cy TnFem

() fat body

Buts tThe Inicvemstioe Frovided Bets 14 ooly 5 Esfwcwnce.lf may wacy ihe original.



62. Open type of circulatery system is 62. T&-REATEY o7 AW
found in

A (A) SETRICE
(B) earthworm i

(C) sea star s S Lo
(D) Fasciola (D) we=s

63. The respiratory pigment in | 63, @00 19 63 TEGR W WSS Y |
earthworm is similar to one found in £ e '
chordates, This pigment

(A) remains dissolved in plasma

sence A e T
A h bi (A) Frams
B
Q‘“ B) EmmmEEm
Q) oFTarEfa
e of the above
(D) Borme w=lie
65. Which of the following statements is
true for Amoeba? 65. TR CHTE NNE IR I 7 2
[A] They form pseudopodia (A] & TR A R
B) None has ter shell
i e i (B) G e Ak S Gl
{C} They have a flagellated phase in
Shele fils cvido (C) < WaR ST FFCeeE T R
(D) They do not have food vacuole (D) <07 T TR %
17 18
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B7.

Finger-like

Amoeba is known as

(A} rhizopodium
(B) axopodium
(C) lobopodium
(D) filopodium

peeudopodinm

in

Mutrition in Amoeba is known as

(A) holophytic nature
(B} holozoic nature

(C) saprophytic natus
(D) parasitic nature
Asexual reproduction of
is brought about by

(A] simple binary ﬂuau

Lransy

(B) multiple fi \0
Ecj - “
ary fission

organ seta is found in

(A} FPerplaneta sp.
(B) Catla sp.
(C) Pheretima sp.

(D} None of the above

Bets The Enfcematiss Fiorided hats Ls suly fot Seference.lt may wvacy the orisinsl.
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70. Caleiferous plands in earthworm | 70, S5cs smEfHoan ofF 7E9 0@
play the role of

(A} =BCA
(&) digestion

B) ¥R
(B) respiration 5
IC) excretion Rl

(D} ST

(D} locomotion
Pl - R L. caffRem R =
(4] coelom (a) Fam

T2, W A
&) BRUTATELE
B) TP
(C) *rifcs
(D) aFETTEEbTe

D} Echinodermata

. Enzyme involved in cell cycle is T3 mﬁmﬁzﬁlﬁ

(4] kinase (A) FET
(B) cyclin (B)
(C) Both |A) and (B) (C) (A) < (B) T=4E
(D} None of the above (D) Toam oFibe

17
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74. In which  animal, internal | Té. W 4FTE WS WATE W
fertilization occursy

(&) Cyclostome J fs 5
P — (B) =miEtme
(€] Reptilia 1) e
(D) Sea urchin D) B =

75. Enzyme fertilizin' is secreted by 75. ‘wihaRfE BrEe e

{A) matured ovum (A) e g s q
(B) matured sperm (B) s vy cn®

£} acrosome

(D) plasma mem

T6. Kazirangs and
Sanctuarica  are

a0 L

(T} a5 AR

D) =H

conservation of

National Park is located in | oo et it S com a0 wafee o

i State?
4) Gujarat (AL SRR
(B) Uttar Pradesh (B) TERRAT
(€] West Bengal (C) e
(D) Karnataka (D) wefbrs
I 21 [ P

Bats cThe Cnfccmstiss Tiorided hats 18 =uly $=f Sefacence.[f tay wacy the arisinal.



TB. PFairing of homologous chromosomes

oceurs during
(A} leptotene
(B) pachytene
[C) diakinesis
(D) diplotene

. IJCN has a record of

(A} extinct species
(B) critical species
(C) endangered species
(D} All of the above

Trishna Sanctuary is located in

. Which of the following animals is

not placental animal?
(A} Rabbit

(B) Platypus

(C) Horse

(D) Human being

FAHEE (IFICHICEICN (NTE T
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84. External fertilization is scen in

{A) frog

(B) lizard

(C] snake

D) bird

Which one is not a type of sexual
reproduction?

[A) Cenjugation

B} Syngamy

(€} Gemmule formation

(D) Oogamy

84.

85.

B6. Which animal is
linking group bety
avesy
|A)} Peripatus
IB) Archaeopteryx
{C) Platypus
(D) Sphenodon ° e (D) CHoTEA
e B7. “gfa wm &0
&) @ TR T TR R R
wiirn T famg =dencs T W s
wen i o ooe

The organs whose origin and

structural  organization  are
same but functionally different

(C) The organs whose origin and
structural organization  are
same and have similar function

(D) The organs whose origin and
structural organization are

different but functionally same

I

55 “The Trfiraaf 1
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88. Which one is vestigial organ in | B8. @D SEEwW Feym w1

human?
[A) Vermiform appendix = e
(B Coccyx B) Fahm
(C] Caudal vertebra (C] (%A I
(D) All of the above (D) T
89. Which one is correctly matched?
89, Fialre
ggle —
T — FIEE

W R o Ty

(C) Intraspecific = (C) mm HETH — A

marck

(D) AT @ BTSSR T —
“\ an ﬂmsH v

90. Faffe e oWt S ferg o

ich of the following animals is
e living foasil?
(A) CATER

{A) Sphenodon

(B} Peripatus B cfcdn
{C) Lirulus (C) forer

D) All of the above (D) Eeofpaa Wl

Hote :Th& [nfocmsmtizse Frovided berw L =ly iz Eelfecence.l: a7 Tty *he oisiml.



91.

92,

/7

Which one of the following 1s correct
for secondary aquatic adaptation?

(A} Animals whose ancestors were
land dweller but now shifted to
aguatic life

(B) Animals whose predecessors
still now

were aguatic and
maintaining the same

[C} MNone of the above

(O] Both {A) and (B}

How does the anal
adaptation of Rohu fis

(4} Forward moving

(B] Changing the direction

{C) Moving up and down

d:g,'.t of hind limb-is placed
and rest three are placed
at front portion

{B] four-chambered heart
(C] suture absent

D) All of the above

Bats cThe fnfccmatiss Fiorided hare La =mly $or Sefecence.[s
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T A 7

(A) oft afiT JEoE W PR S
T2 4 =0E AW T

(B % wfe o[eEem T &
S S T TR WA

IC) ‘Toam aafes W

D) (A) 93z (B) Tk

D) e e e

1 7 R o 2 R M | AL e i ]
g ™

(A) < =gm Pagm fis o TR
el wrawm foe A

(B) T SRS TG
(C) FFE o

(D) Teran wAsh
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94. Active flight is seen in 94, N TEER v AW

(4] bat (&) =mE

(B) pigeon (B) TS

3. amu [c) aye

(D) ostrich D) ‘WnRce 4

86. The number of air sacs present in

i 95. AR (5 ALFR Hem o™
5 5
|\ 9 B = '
(c) ¢ () e
w’ 2
96. The whicl @ o T o ame
exchange different w2 ffEn (Ow Trmsta R
e i e ols | B
" (A) =TI v
\ Ao gycle’ (B) ¥ 5T
gen cycle (C) e sE
D) biogeochemical cycle (D) %R B-ATTHRS
Q - TR a s | 1 B s
contact with acid?
(A) Ozone v
(B] Mitrogen (B) FRhwe
(C) Carbon dioxide (C) ¥ SRRE
(D) None of the above

7
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(4) Madhavan

(B] A. G. Tansley

JAC) Odum

(D) Ernst Haeckel

89, Conservation of wildlif is

known as

(&) in wvitro
B} in wivo
(C) in situ

D) ex situ

100. The oxygen cycle is to

maintain the balance of oxygen
in nature

(B] indirectly maintain the balance
of carbon cycle )

(C) indirectly form the ozone layer

D) All of the above

.\(\6

99,

100.

Hote :Tha [nfcematics Trowised hars la smly $or Seference. DS
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(D) @ F&F
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(D) ToEm sl
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GROUP—C

PHYSIOLOGY / =raafmm

Directions : Answer the following guestions
by selecting the correct option.

101. With reference to respiration, which
is correct?

(A) Pulmonary ventilation is egqual

to alveolar ventilation

Alveolar ventilation 18 less than
pulmonary ventilation

Alvenlar ventilation 18 more than
pulmonaz ilati

of the following situations,
is a risk factor for children
guiring erythroblastosis foetalis?

(A} Mother is Eh —ve and father is
Rh —ve

1
C

e

(B} Mother is Rh —ve and father is
Rh +ve

(C) Mother 18 Rh +ve and father is
Rh +ve

(D) Mother is Rh +ve and father is
Eh —ve

17 28

4o Frovided harw i miy

T e

! =—C

froifi « F e fee wm Ao emsie

101. ¥ &% (B0 WS 7
(A) AT WY W A

A ST - T

(A} ¥ Rh -ve <78 =M1 Rh —ve 2

(B) ¥ Rh —ve 43t 9@ Rh +ve 5#
(C} M Rh +ve 99 99 Rh +ve TR

(0] %1 Rh +ve 49t 9% Rh -ve %A

®.7F may 1acy the oristrml.



Directions : Answer the following questions
by selecting the correct option.

101. With reference to respiration, which

is correct?

(A} Pulmonary ventilation is equal
to alveolar ventilation

(B) Alveolar ventilation is less than
pulmonary ventilation

(C) Alveolar ventilation is more than
a2l L& Lml

102.

(A] villa

(B) Peyer's e
() ‘an! :
;‘

1 of the following situations,

is a risk factor for children
iring erythroblastosis foetalis?

Brrfim : Ais t=m e = T asfe
T mal

101, 9 H FE HEE 7
(A) PREAE A WEE-TE IS

ATY WA~ A T

(B) TqufAiEs Ay wAE-aTE

T W -2 (B

. | 103, Fiew e weER TeeR <RRPTET
(Al ;&h"&_“zmﬂh_ﬂ“d father iz FFGITEM W) S SO HEA i
(B} Mother is Rh —ve and father is (&) T Rh -ve <7 M Bh' —ve 55
Rh +ve
B| M Bh Rh
C) Mother is Rh +ve and father ia RS LR et
Eh +ve
(C] ¥ Rh +ve & 971 BEh +ve THA
(D} Mother iz Rh +ve and father is
Rh —ve D) M Rh +ve &= FA Rh —ye =7
17 28
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104. If Henle's loop were absent from
mammalian nephron, which one of
the following is to be expected?

(A) Thers will be no urme formation

(B) There will be hardly any change
in the guality and guantity of
urine formed

[C) The urine
concentrated

will be more

(D) The urine will be more dilute

105. Im ©brain, Ilateral wventricle is

connected to diccoel by

t the fimbriae of

e in females is to
lease ovum from the Graafian
llicle

(B) make necessary changes in the
endometrium  for implantation
of ovum

iC) help in the development of
corpus luteum

(D) belp in the collection of the
ovum after ovulation

T 29

105.

104, =% A e FElen o=l 9

(Henly's loop) =+#% e =@ F5a
A TG T 0

(A) 93 BeoT wa
(B) teoffie WEm ewre e Afmasrs

i 41 99 33
(C) Tm =few o5 =
D) & =i =7 73
“((\‘3
£
YEEACER wiEe 9 2w F
(B) =iEmmren SHwEs TEes e

(C) witmmmen S gy ey
(D) <fEmoucen SRS TR g

sfarg, =M s TTNPE (diocoel)
mﬁlmmﬁmqm

(A} TmremfEE TR

(B) Tm fim

107. EnETR FEAE aEE Sy avm

A% =

(A) miFe TR cms fimy Reme
=

(B) fem afwerm wn aeraiEe
BETEE HfEeds e =

(C) === FETaTey e e 5

(D) fox Momrm om fomy Sews sE
-

[ P.T.O.
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104. If Henle's loop were absent from
mammalian nephron, which one of
the following is to be expected?

()
(B)

There will be no urine formation

There will be hardly any change
in the quality and quantity of

urine formed

(C) The wurine will be more
concentrated

(D) The urine will be more dilute

105. In brain, lateral wventricle is

connected to diocoel by

(D) Both (A} and (B]

106. Endemic goitre is a state

(A) increased thyroid function

D) mo

107. The: the fimbriae of

in females is to

lease ovum. from the Graafian
licle

(B] make necessary chanpges in the
endometrium for implantation
of ovum

(C)] help in the development of
corpus luteum

(D) help in the collection of the
ovum after ovalation

7 29

Hate :Tha Enfcocrmaticn FrovisSesd hars la emly $or Beference. [t nay

104. = w=l =fiva IR =R
(Henly's loop) Wi «ie w2 Fis
CATDA YR 4T 7

(&) T2 Besr 2 A

[C) T= WEF &5 52
(D) T2 =iEF 7Y 53

105. =R, 180 %2 TEAP® (diococl)

(B) TefE T &P & TS
“fEda @ Em
.-{
_m_
e fiea A A TE 7 q
() Een T e
@6‘

(B) W faE

106.

107.
(4) aFm wEeR wd e Feme
Ll
(B) Femg sfEwerm =0 aemamE
s s s =

(C) Ao e T e 7

(D} fex Feaean = fme wenz
w

[ BT.Ex

wary the ariginal.



108. Which one of the following pairs
of discases is wviral as well as
transmitted by mosgquitoes?

[4) Elephantiasis and dengue

(B} Encephalitis and  slecping
sickness

(C} Yellow fever and sleeping
sickness

@) Yellow fever and dengue

109. The infective stage of Plosmodium ia
[A) sporozoite

(B} cryptozoite

110. eells
permatogomn ro-

NESOMes wiys undergo
prmatocytes divide by

ig'cell division

(" Bccondary  spermatocytes have

, 23 chromosomes and undergo

second meiotic cell division

(D) Spermatogoa are transformed
into spermatids

111.

The gland which regulates the level
of calcium in the blood is

[A) thyroid
B) adrenal
(C} parathyroid
(D} pituitary

I7

108.

109.

111.

: @@6\

Sien cem cwE cne sEmemie e
IS 7

(A afETHEGTREE @ (o
=] maﬁmm
(€} Hrewm e Frm aer

D) = e oo

BRI G- FEEAe T
(&) CeTTAED

(B) farrtmeab

=i e
fees I = 28 ¥
TR R0 (I TS0 A0S 7

(&) =mafGeaEen 460
e o@ WewE fEm
ram e el =

(B) wefas ~miGmis fiabe
frerom wan frerfies =

(C) crse®  =mufelEE 2
FETEN 4RE O3t WEw
= e T s =

(D) =emRizhoEmm =Hmice oRaEs =

e FEmeE wa g o w=
(A) ofETE

(B) =i

(C) emmefEms

D) R

». 1% may ¥erv ttw sriginel: d



112, The brain stem is made up of
(4] midbrain, pons and cerebellum

{B) midbrain, pons and medulla
oblongata

iC) diencephalon, medulla
oblongata and cerebellum

i) cerebellum, hypothalamus and
pons

113. Select the coTTeEct option
representing the parts of nephron
that respectively absorb

1. glacose

II. amino acids
III. inorganic ions {
IV. urea in maxim

L 1L
(A} DCT Descending D
limb of leop

of Henle
{B} DCT Descending - PCT D
limb of loop
of Henle

4. Which one of the following cells is
not a phagocytic cell?

(4} Macrophage
(B) Monocyte

(C) Neutrophil
(I Basophil

Bote =The [nfurmst ios Frovicaes hetw {8 only fur Ssfecwnce. It

112. wEgHe (i m
(A] wurafEe, e g3 e fr
(B %u;:ﬁ:, P G CRE SR

(C) SRWICRFFF, g b o

(D} o, SfECeneTETR 43 SR
ik

113.

S T

114, TR @EstR @At T
(phagocytic) (18 7% 7

(A TETEE

(B) TAPIED

(C) ST

(D) AT

[ P.T.O.




115. Which one of the following enzymes

116.

118.

7

carries out the imitial step in the
digestion of milk in humans?

{A) Pepsin
[B] Rennin
(C) Lipase
D) Trypsin

After taking a long deep breath, we
do not respire for some seconds due
o

(A} more COg5 in bloed
(B} more (; in blood

to the atmospheric

pressures

(I} intrapleural pressure becomes
more than the intraalveolar
pressure

The most sbundant mineral of
human body is

(A) iren
=]
{C)
L)

sodium
potassium

calcium

ote :The [nfccmat o=

1§ =iy $== EmPetwnce.TE

115.

116.

118.

ey Aty the otiginel .

fiea GeriregRE WM W WECW
TS T PR 5 WO 7

() PR
(B &=

(C) Feers
D) T

% afm wem w W =
W AEe = A, TR

{A] T HEF CO,

(C) =FEETETN W°| AR A
(D) =meef¥n o wEramafiEs

e e Liliad

2

(A) e

(B) it
(C) o
(D) =m=Pas




119

120.

7

highest and least concentration
a are observed respectively in

Which one of the following pairs of
food components in humana reaches
the stomach totally undigested?

(A] Starch and fat

(B) Fat and cellulose

(C) Starch and cellulose

(D) Starch and protein

During ventricular systole

(4) oxygenated blood is pumped
into the pulmonarjr a:tcr:.r and

(B) oxygenated

()

[A) hepatic vein and hepatic artery
(B) hepatic artery and renal vein
(G} hepatic vein and renal vein

(D) hepatic portal vein and hepatic
vein

33

119.

121.

FCER P CNTE R RS ERe
ool weffts w7

(A} C4=E e R
(B) & @ CEEes
(C) oo @ OoFTs

(D] CTER @ cHTn

TF PR FE «E

WHTEAAES TF  PARE S

coifes =

(D) SERE T TS O
e

TF PR TR
ceifire =

Ty wAw s WEEE A snsm Ay
eI

(A) TFE F e v weEe
(B) 7= 47 & gHig e
(©) ¥ P @ 78w Fam

(D) %FE (o= T @ T55s femmy
| P.T.O.
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122. The function of wvagus nerve
innervating the heart is to

|A} initiate the heartbeat
{B] reduce the heartbeat
{C] accelerate the heartbeat

(D) maintain constant heartbeat

123.

A condition in which the body's
internal environment TemMAINSs

relatively constant within limits is

atotropin and prolactin

[0} wvasopressin and adrenaline

» Sperm acrosome is derived from
[A) Golgi body
(B) endoplasmic reticulum
(C] lysosome

(D) mesosome

i

Hets Tha Irderet icn Poowide? 'mrs 43 =nly for Celesgmcw, 16 =iy varv tbe ooiginsl.

122, SRS SAnssd (oo TR WS =
(A) TR e WO
(B) TTesrH 21 WhI!
(C) wwmepea 4% oI

(D) T H9S T

o weEaY R Sifieene
T (] ST, W TR

123.

(A) CEETCH

(B)

24. CTRILFIMER W8 4% R 7%
(A) wiEEaE s IwiEi

(B) Ho(Fm G2 g
() CTIhGPE w3 i
(D) CECARETE a9 ST

125, =em¥a wCETEN (R W
(Ay s AT
(B) e @i s
(C) wEes cais

D) AT (T




126. Viruses contain

(A) only RNA
(B} only DNA

(C) both DNA and RNA

(D) neither DNA nor RNA

. How does vaccination work?

(C) The dead pathogen stays in
body and constantly sti
the immune system

\

A] Oxytocin
(B) Vasopressin
|C) Progesteraone

(D) FSH

(&) Thl.'. :mmum: s}ra.tcm prnduc::a.

ra due to lack
of the following

35

126. S TET W
(A) (T RNA
(B} Fa¥ DNA
(C) DNA 4% RNA T

(D) DNA 1 RNA FW10E 0 4

127. ¥ (vaccination) e ¥= #m 0

g B worm w3
(immune system) & T5FE 503

(D) Begen el

128. v m=rmslE T @Ehe TERE
AHIHR TG 7

(A) =EHPR
(B] c=rAmem
(C) comsTEss

iD) F8H

| B.T.O
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129,

130.

/7

In the homeostatic cantrol of blood
sugar level, which organs function
respectively as  modulator and
effector?

[4) Liver and islets of Langerhans

(B) Hypothalamus and liver

(C) Hypothalamus and islets of
Langerhans

(D} Islets of Langerhans and
hypothalamus

higher altitudes,
in the ear and

About 180 litre of fluid is filtered by
the kidneys evervday. Only 1.5 litre
is excreted in urine. A failure of
which organ would result in a higher
voelume of urine being formed?

(A) Pituitary gland
{B] Adrenal gland
{C] Hypothalamus

(D) Gallbladder

as

129,

130.

131.

mWE R TEE wEEer e
(homeostatic control) (¥9 =7E
TUIECH S £ 9% (modulator and
effector) = B =0 WA 7

(A] TFT & TR S
(B) TSR @ THE

.

[T} SEzemereT = A S

(D) FPHRECE R o

‘{mwﬁ{

(C) Temnfwm A, e, ce,

D) toEE e

HfEfEn =m 180 BGm s WWJ
"feiEE = e 1.5 e
e e = | o woE S
we A e g Besm wgh 2

() igabia i

(B) =ik g

(C) =RenemET
(D) Prasf

.75 =uy ¥rfv the srigioel,



132. Which onc of the following plasma
proteing 18 involyed im  the
coagulation of blood?

(4] Albumin

(B) Serum caloium
{C) Globulin

(D} Fibrinogen

133, Esscntial : non-essential amino acid
is
A} lysine : leucine
{B] methionine : threonine
(C) valine : tyrosine
(D) alanine : cystine

134. The partial pressure of
alveolar air is
(A] 45 mm Hg
(B) 95 mm Hg
iC) 104 mm Hg {ap
(D) 110 mm Hg

135. Which one of the following corre
represents the normal adult b

dental formula? e \0

3131
g

(&)

(B

<

@

3a.

2
2 3
3 2
3132

|
Wt

L ¥

The main role of microelements is to
act as

{A4) constituent of amino acids
{B] constituent of hormones

| [C) cofactor of enzymes

| (D binder of cell structure

132. Fakle e aftea oo b T8
T AR T ?

(A} SR

(B) FEm s=iEm
(C) cnEshm

(D) sEET=

ATATEY ¢ FATE =S AWiE 5=
A} TR : FEhE
(&) 45 mm Hg e
(B} 95
E‘

(B) ffkshm  fefm
(C) =N : SR

TREF (adult) WA T
Fio ata 2

133.

(D) =R ;S

134, T e

(A}

haica

(B

1<)

b2Iba B

-

Ll K R Gl
BRI 0 e =i

b | ] =i | ke I—lull-l

| L

o

N

136, TEToLFRECTE e T 5

(&) =T =miEce e e e
L1

(B) TRITE TR B v |
(C) 'TermEm cw-wn R
(D) (37 I3 T (binder) 75 T

[ P.T.O.
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. The amount of a&ir that can be
inspired /expired normally is called

(A) tidal volume
(B) vital capacity
(C) residual volume

D} normal volaume

138. Which one of the following human
cells does not contain mitochondria?

{A) Liver cell

139,

ich of the following is an example

of conditioned reflex?

{A} Hand withdraws when pierced
with a needle

(Bl Eyes close, when anything
enters into them

(C) During digestion, food goes
forward in alimentary canal

D) Trained dog salivates when you
ring a bell

7 a8

138,

140.

® :The Cnicematizs Feorided hers Ls mly ot Befececce.fS sar wary the stigtaal’

. Aen gt 38m Fafives wey =

(A) cRbEE
(B) ®EE W=

(C) s =

(D) F8 s T

Meen Il TEAeS afaen T 0
(A) CFR TSR T T AR (A

(B) coy g ATATR SN TRY (514 T
A MeET

(C) ¥ *M6CHA FEE oW H5-Ae
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141. Identify, from the following, a

hormone produced by the pituitary 7 & Hre Terw PR o wm
gland in both males and females but Teem w ey e Fonom o
| funictional only in females, TR =
A Yampreesin (A csoTRabE
HE R (8) R <
(C) Prolactin o .
D) Inhibin
& (D) TR &
- | 142, prmEEm = e

(D) WBLFEE (seminal vesicle) ‘

143. FFE FAECE 7 TWEA FAANEE waaE

e S T =
(&) *mefiE

(B] endemic (B) asfis

(C) epidemic () afefi

(D) #=%E @9 (notifiable disease)

Hate The [nfcemation TrowisSesd hare Lo smly #or SsfeErence. s oa e
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144, What product of the immune system
attaches to bacteria, making them
easier to be eaten by white blood
cells?

(A) Antigen
(B} Haemoglobin
{C) Antibody

D) MHC 1 molecule

145. What happens during fertilization in
humans after many sperms reach

close to the ovum?

(A) Secratifnsafs

(C) Cells of corona iata tral
the aperms
arest the
na pellucida

“of the following is not the
of insulin?

Increase the permeability of cell
membrane to glucose

(B) Increase the oxidation of
glucose in the cells

(C) Imitiates the conversion of
givcogen to glucose

[D) Initiates the formation of

hepatic glycogen from excess of
glucose

17
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144, SHEFR SOE (immune  system) W5
Teenfre W o ATEEER A
TR (VT AELHILTR S Ew T 7
{A) =miGoEs
(B) FgsmmRE=

(C) =miats

(D} MHC [ molecule

145.

(D) Tear@ Frebe cam 5 =W zona
pellucida-9 8799 T4

146. irsa cFmil T @ o

(A) e ofE omewE oo gl
=

(B) CFIER FLAHCER WA T I

(D} =fefe s s Tgee e
TeeTLAR A WA




147.

148.

7

e}m
- en the oxygen supply to the

Retina 18 most sensitive at
(A) macula lutea

(B} cptic disc

(C) fovea centralis

(D) periphery

Glucose and amino acids are
reabsorbed in the

(A proximal conveluted tubule
(B) distal tubule

(C) collecting duct

(D} loop of Henle
The vein which is fo ; e
capillaries of an and

terminates into capillaries in some
other organs before entering ‘
heart is called

.
[A) coronary vein
(< |

tissue is inadequate, the condition is
(A} dyspnea
(B] hypoxia

(€] asphyxia

(D] apnea

41

Ttorised hars s mmly f=r Bsfmcence.ls

147.

148.

150.

Rl FBiEre A =
(A) e o

(B) =eifo= forz

(C) cmfem o
(D) =mifE =

AT & ARG =TS AT =

(A) *ErETE AfEE

(B) T A
HEF (LT TeSH EE

[C) TR e
T W P WO
8 T IS 15

(A) FaEE Fen

(B) Prfn
({C) cwiela P

D)

iD) Pt

FACHE WECE s weEly we &
TAECE T W

(&) T
(B) =fEeenfen
(T} =rfEEn
(D) =meffE
| P.T.O.
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